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1.

Physics

Two fixed point charges + 4e and + e
units are separated by a distance a.
Where should the third point charge
be placed in between them to be in
equilibrium ?

A) At a distance 3; from + 4e charge

B) At adistance % from the charge

+4e

C) At adistance %a from + 4e charge

D) At a distance L from the charge
+4e '

Charge Q is distributed to two different
metallic spheres having radii R and
2R such that both spheres have equal
surface charge density. Then charge on
larger sphere is

A) %Q

Q
B)g
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3.

Two identical capacitors 1 and 2 are
connected in series to a battery as

shown in the figure. Capacitor 2 contains -

a dielectric slab of dielectric constant K.
Q, and Q, are the charges stored in
the capacitors. Now the dielectric slab
is removed and the corresponding

charges are Q; and Q; , then

|| I
L 2
|}

|E ’

A) Q _K+1 B) Q, _K+1
Q K Q 2
Q; _K+1 Q _K

) Q, ) Qg2

The electric potential at a point in free
space due to a charge Q coulomb is
Q =10"V. The electric field at that point
is

A) 4ne Q x 10%2 Vm™!
B) 127 Q x 10 Vm™!
C) 4ne Q x 102 Vm™’
D) 127 ,Q x 102 Vm™'

The resistance of a 10 m long wire is
10 Q. lts length is increased by 25%
by stretching the wire uniformly. Then
the resistance of the wire will be
A) 125Q B) 1450

C) 156 Q D) 186 Q

Page No. 4
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4. TF AR Q FE % FHRV §Fd UHH TF
figmfemRwa Qx10"viimiigm
Froast
A) 4re Q x 102 V'

B) 121¢,Q x 10% V!
C) 4ne Q x 10 Vm™'
D) 12re,Q x 102 V!
5. 10, Ta T TR RA 10 Q21 56

T AR R THH &9 8 Tt 25% w81
A R TR Afedu B

A) 125 Q B) 145Q
C) 156 Q D) 186 Q
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6. An electric field is given by
E = (yi+xj) NC™".The work done in
moving a 1'C charge from
f = (2i+2j)mtor, = (4i+])m is
A) +44 B) - 4J

C) +84 D) zero

7. There is a current of 4.8 ampere in a
conductor. The number of electrons that
cross any section normal to the direction

of flow per second is
A} 10% B) 2x10"

C) 3x10* D) 7x10%®

8. Magnitude of drift velocity per unit
electric field is

A) Current density
B) Current
C) Resistivity

D) Mobility

9. The colour code for a resistor of
resistance 3.5 kQQ with 5% tolerance is

A) Orange, green, orange and gold
B) Orange, green, orange and silver
C) Orange, green, red and silver

D) Orange, green, red and gold

Page No. 5
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10.

)

12.

What is the potential difference between
the points A and B in the circuit diagram
shown in figure ?

20V
|A
saz 280
B Cc
100z 240
A 29 yoi B) 19 von
3 3

20 10
C) — Volt D) —= Volt

NG J3

When a current of 2 A flows in a battery
from negative to positive terminal the
potential difference acrossitis 12 V. If
a current of 3 A flowing in the opposite
direction produces a potential difference
of 15V, the emf of the battery is

A) 126V B) 132V
C) 135V D) 140V
With a potentiometer, null points are

obtained at 140 cm and 180 cm with cells
of emf 1.1 V and one of unknown value

respectively. The unknown emf is

10. for & fmme o ufoy sa # fagad

A3t B % dfig a7
20V
[A
5Qz 280
B Y Lc
10Qs 340

11.

12.

g

-

A 29 vort B) 19 voit
3 3

20 10
— Volt D) = Volt
N N

C)
WS T S T A W AR a6 OE 2 A
1 forera 7 @ o g i 12 V 2
e wk faga 3 A i foradia fewn & seam
15 V &1 Rveiat 3o Fdt 2, A =
o B

A) 126V

C) 135V

B) 132V
D) 140V

T UREHIEH UM, 1.1 V 3G 3/
{unus O Gl S ® 140 9. . ol
180 8. . FH: T ¥ forg T SN B
T STATH B

A) 1.1V B) 1.8V AIRTIIY B)REEN
C) 1.6V D) 1.41V C) 1.6V D) 141V
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13. Aninfinitely long conductor is bent into
the shape as shown in the figure. It
carries a current | and the radius of the

circular loop is r. Then magnetic field at
the center of the loop is

> '
g 4

A) zero

I
C) Ho (41
) 2nr(m )-

B) infinity
D) Mo (4.
o (7

14. In a current carrying long solenoid,
the magnetic field produced does not
depends upon
A) Current flowing
B) Number of turns per unit length
C) Radius of the solenoid
D) All of the above

15, A circuiar loop of area 0.01m2 carrying
a current of 10 A is held perpendicular
to a magnetic field of intensity 0.1 T.
The torque acting on the loop is
A) Zero B) 0.01 Nm
C) 0.001 Nm D) 0.8 Nm

16. An electric bulb rated 220 V, 100 W is
connected in series with another bulb
rated 220 V, 60 W. If the voltage across
the combination is 220 V, the power
consumed by the 100 W bulb will be

13. G 31 w4 =T w1 o fewe argem
apfa # wigt 81 3w | frge R ik
JARRR YW i B ¢} R FEw
e g 2

|

> N

-

“| “1
A) T

Mol
C) ot (m+1)

B) 3a
Mol o
D) s (m-1)

14. T e el feft whemierenT & Seqm b
aF__ winshwiwm
A) et foea
B) ¥ft o weg yuat <6t W
C) uierirent it Bwn
D) & adfi

15. 10 A fasga 91 0.01m? &% =1 &
GUHR gAE 0.1 T gohig &5 TeTar &
Seled 81 58 W T 9T 77l ol
A) IF B) 0.01 Nm
C) 0.001 Nm D) 0.8 Nm

16. 220V, 100 W 1 U farga s gut 220
V, 60 W 3 Th o5 o |1 el 351181 T
B |1 3R T e A diees 220 VR, T 100

about W I sfest 310 @ua 1 178 i
A) 25W B) 14W A) 25 W B) 14 W
C) 60 W D) 100 W C) 60 W D) 100 W
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17. A potentiometer wire 10 m long, has
a resistance of 40 Q. |t is connected
in series with a resistance box and a
2 V storage cell. If the potential gradient

along the wire is 0.1 mV/cm, the
resistance unplugged in the box is

A) 260 Q B) 760 Q
C) 960 © D) 1060 O

18. In the loop shown, the magnetic
induction at the point O is

17. T AR aR 10 m e 3R 40 Q
e 21 3R 3w ey s o2 v
) ~gRT A A e 1 e T € AR H
T T 0.1 mV/em @, sl 3 wRker 3
A) 260 O B) 760 O
C) 960 Q D) 1060 Q

18. gmﬁﬁarqaﬁmﬁgownﬁaﬁaﬁm

— I 11 ] 7
B) l‘l_Dl R1+H2W B) Eﬂ_ H1+H2
8 | RyR; | 8 | RyR,
ol [ BB, | o Mol [ RiR, |
©) 8 | R{+R; ) 8 | R{+R;
D) Zero D) &
19. Ampere’s circuital law can be derived 19, vrfiR & wRuefig fem et @
from T TR S § |
A) Ohm's law A) aten T fan
B) Biot-Savart law B) aige-dard %1 fam
C) Kirchoff's law C) Frats = fm
D) Gauss law D) s =1 Frem
20. When 0.005 A current flows through a 20. e T 9fe] $eei Heaamie # 0.005 A
moving coil galvanometer, it gives full freqn e 2, @ 37 Pf Yom oo fam
sc]ale deﬂection(.j It 5 converted into a} 2138 975 Q F I TRy T TN F@
voltmeter to read 5 V using an extemal : S %Q
resistance of 975 Q. The resistance of 5 V & 37 7Y & de T et T e
the galvanometer in ohms is b= C e o 2 oy S e K
A) 5 B) 10 A) S 8) 10
C) 15 D) 25 _C) 15 D) 25
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21.

22.

23.

24.

Two wires of same length are shapedinto
a square and a circle. If they carry same
current, ratio of magnetic moment is

A)2:z By m:2
C)=n:4 D)4:x

Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, the
resultant magnetic field at a midpoint
the dipoles is

A) 4J5x10°T
B) 2J5x10°T
C) 45x107T
D) 25x107T

P, Q and R are long straight wires in air,
carrying currents as shown in the figure.
The force on Q is directed

P Q R

20A 1 40A 60A

A) to the left

B) to the right

C) perpendicular to the plane of the
diagram

D) along the current in Q

Thee magnetic flux linked with a coii of
N tums of area of cross section A held
with its plane parallel to the field B is

A) % B) NAB
C) N%B D) 0

Page No. 9
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25.

26.

27.

28.

A coil having an inductance of 0.5 H
carries a current which is uniformly
varying from zero to 10 A is 2 second.
The emt {in volt) generated in the coil is

A) 10 B) 5
C) 25 D) 1.25
The figure shows a LCR network

connected to 300 V AC supply.
The circuit elements are such that
R=X=X,=10Q V,V,and V,
are three AC voltmeters connected
as shown in the figure. Which of the
following represents the correct set of
readings of the voltmeters ?

V1 V2 Vs
OO,
VWA IS H T

R 5 C

()

/

300V

A) V,=100V,V,=100V, V,=100V
B) V,=150V,V,=0,V, =150 V

C) V, =300V, V,=100V, V,= 100V
D) V, =300V, V, =300V, V,=300V

Atransformer with efficiency 80% works
at 4 kW and 100 V. If the secondary
voltage is 200 V, then the primary and
secondary currents are respectively
A) 40A, 16 A B) 16 A, 40 A
C) 20A,40A D) 40A,20 A

Thee ms value of the electric field of the
light coming from the sun is 720 NG,
The total average energy density of the
electromagnetic wave is
A) 3.3x 10°Jdm

B) 4.58 x 108 Jm-3

C) 6.37 x 10%Jm™3

D) 81.35 x 1072 dm"3

25.

26.

27.

28.

Page No. 10

0.5 H o aeft O Hech & v @ =
TR EGE 2 qFs A yI € 10 AT Ffay

Tt 1 et # 3o SuAes (volt 7 ) B

A) 10 B) 5
C) 25 D) 1.25
e ® 300 V AC 119 & T LCR eash

e femmn w81 gitey 99 39 TER
§,R=X =X,=10Q1V,V,3 v,
1 AC Tieeriet T # @ 7o ageR
2 21 Fafafiga # @ F9-w Seafe
% e T GEl GY=Y SN B ?

V, V,

300V

A) V,=100V,V,=100V,V, =100V
B) V,=150V,V,=0,V, =150 V

C) V,=300V,V,=100V, V,= 100V
D) V,=300V,V,=300V,V,=300V

80% TSIl TATENT Uh ZEHET 4 kW 3T
100 V W F/ =t 21 ARt Tedias diees
200 V 2, T wrerfiier afie fadaer foge somm: €
A) 40A, 16 A B) 16 A, 40 A
C) 20 A, 40 A D) 40 A, 20 A

T A 3 ATl W & fAEE &5 w1 ms
AA 720 NC' ) g S w01 i 5
A ST T B

A) 3.3 x 10 Jm™
B) 4.58 x 10 Jm™
C) 6.37 x 10~ Jm

D) 81.35x 10-'2Jm™
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29. An object placed infront of a concave
mirror at a distance of x cm from the
pole gives a 3 times magnified real
image. If it is moved to a distance of
(x + 5) cm. The magnification of the
image becomes 2. The focal length of

the mirror is
A) 15¢cm B) 20 cm
C) 26¢cm D) 30 cm

30. A vessel of depth (2d) is half filled
with a liquid of refractive index p,.
The remaining upper half is filled with
another immiscibie liquid of refractive
index p,. The apparent depth of the
vessel, when viewed normally is

di1 1
Vit wafiy]

Wy Hp
odlit] o 2lt]
MoK dip, K

31. A convex lens of focal length 0.15 m is
made of material of refractive index %
When it is placed in a liquid, its focal

length is increased by 0.225 m. The
refractive index of the liquid is

IS B) ¥,
o % D) %

32. InYoung's double slit experiment, the two
slits are 0.2 mm aparnt. The interference
fringes for light of wavelength 6000A
are found on the screen 80 cm away.
The distance of fifth dark fringe from the
central fringe will be

A) 6.8 mm
C) 9.8 mm

B) 7.8 mm
D) 10.8 mm

A Page No. 11
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A) 1584, B) 20 &.#.

C) 25 &.f. D) 30 @1,

30. (2d) TTEUE AT UF T UG
T 38 W AT SWIGIAT S | AT 3TN T
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W, | 5 A S8 FEr S e, A

TR ERTC |
a1 1| 11
A 2[u1+uz] 2 2d[p._,+u_2]
1 1 2[1 1
< "[u—,*ﬂ 2 d[u1+uz]
31. @& Iad oig Frad wied |9 0.15
M. 2, 3 3 o A venf & T
R | V9 38 w5 H T S e, | 3u

hichel T 0.225 |, S ST e | 3 &
dHIF §
B) %,

A
o % o) %

32, W% Bl wm A doE 0.2 W R
B000A Foean % YahmeT &g A Fer
ved W 80§, ¢ et | Fe wen @
ied St e g €
A) 6.8 4.4 B) 7.8 #i.®.

C) 9.8 7L, D) 10.8 .
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33.

34.

35.

36.

A diffraction patter is obtained using a

beam of red light. What happens if the

red light is replaced by biue light ?
A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart

.D) Bands disappear altogether

The moving proton and a-particle are
subjected to the same magnetic field, so
that the radii of their paths are equal to
each other. Assuming the field induction
B is perpendicular to the velocity vector
of the a-particle and proton, the ratio of
de-Broglie wavelength of a-particle to
that of proton is

m Y B) %
C) 1 D) 2

At a certain time, a radioactive substance
contains 2x 10? atoms andits disintegration
rate is 3 x 10" atoms/second. When
2 x 10" atoms are left to decay, its
disintegration rate will be

A) %xTO‘“ atorn/ s

B) 0.693 x 3 x 10" atoms/s
C) 3 x 10° atoms/s
D) 3 x 10'° atoms/s

The total energy of electron in the ground
state of hydrogen atom is —3.6 eV. The
kinetic energy of this electron in first
excited state is
A) 6.8eV

C) 1.7eV

B) 13.6 eV
D) 3.4V

Page No. 12
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37.

38.

39.

40.

41,

The half life of a radicactive isotope X is
50 years. It decays to another element
Y which is stable. The two elements
X and Y were found to be in the ratio of
1:15 in a sample of a given rock. The
age of the rock was estimated to be

A) 150 years B) 200 years
C) 250 years D) 100 years
The wavelength of first line of Lyman

series for hydrogen atom is equal to that
of the second line of Balmer series fora
hydrogen like ion. The atomic number
Z of hydrogen like ion is

A) 3 B) 4
C)1 D) 2
An AC supply of 230 V is applied to

a half wave rectifier circuit through a
transformer of tum ratio 10 : 1. Find the
output DC voltage. Assume the diode
to be ideal.

A) 230V B) 52V
C) 104V D) 20.8V
What will be the input of Aand B forthe

Boolean expression (A+B).(A-B)=1?
A) 0,0 B) 0, 1
C) 1,0 D) 1,1

The light ray is incidence at an angle
of 60° on a prism of angle 45°. When
the light ray falls on the other surface at
90°, the refractive index of the material
of prism p and the angle of deviation &
are given by

A) n=+2,5=30°
B) p=15,6=15°

C) u:@,a:sm

’3
==, =1 =
D) K > d=15

Page No. 13
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38.

50 TR |
I8 TF g 9 Y 7 Rl fard < fén
I EAFIdddam Xy
1:15% QMM A MCAR T | TgH Y
 ImaRTER

A) 150 9¢ B) 20094

C) 250 a% D) 10094

BRG] S A S@e Y v

. @ H TR TF TREN o 3T

39.

40.

41.

o TRt e it s T F SRR |
TEEA 8 I F A G Z R |
A) 3 B) 4

C) 1 D) 2

10 : 1 TE ST o U 2R & Aren
o @ et feserill e mes 230 V
H1 AC RTYFF it et 2 | FRodt 6t smant
THA g DC aied™ Wi I & |

A) 230V B) 5.2V

C) 104V D) 20.8V

o IR (A +B).(A - B) = 15forg

A 3R B 1 3ES RE 7

A) 0,0 B) 0,1

C) 1,0 D) 1,1

FIUT 45° 3 T TR W 60° % TF F0 W
ERTsT faT STrafo B @ | S ST SR e
T I3 90° W Fiedt ® ot w1 & wgrd =
i geft iR e i 6 57

A) n=+2,8=30°
B) u=15,5=15°

C) u=—‘/2-3-.8.—.30°

!3
=,[—,0=15°
D) 4 2 )
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42,

43.

45,

46.

A ball is dropped from the top of a

building 100 m high. At the same instant

another ball is thrown upwards with a
velocity of 40 ms~ from the bottom of the
building. The two balls will meet after
A) 3s B) 2s

C) 25s D) 35s

Two balls are projected making angles of
30° and 45° respectively with horizontal.
If both have same velocity at the highest
point of their path, then the ratio of their
horizontal ranges is

A)1:3
C) V3:42

B) 3:1
D) 1:+3

. Twoblocks of 2 kg and 1 kg are in contact

on a frictionless table. If a force of 3 Nis
applied on 2 kg block, then the force of

42,

e 100 . J=h w A & e @
e | SHERE TS & 40 ms™
F TG FR Y FARX T I e e I
21Nt a7e Pt

A) 3s B) 2s
C) 25s D) 355

. BFTiE R 30° 7R 45° Frator et
R g SR ST @ | 5P QA T I

Ty % wated fogelt W wuw 3 g @, o
Iht &ifoet et 1 Srgaa @

A)1:3 B) 3:1
C) V3:42 D) 1:4/3

. Q26 iR 1 T, = =i v o

At wumsi8 | IR INTE A
2 T35, 711, & st T T ST 8, T <

contact between the two blocks will be Fegait 3 ofte T 5 B
3N SN | »
2kg R == 2kg =
TS 7 VT N i T4 Vad 74 /AW A/
A) ON B) 1N A) ON B) 1N
C) 2N D) 3N C) 2N D) 3N
If the linear momentum is increased | 45 I Y smm = 50% wat fear s
by 50%, the kinetic energy will be e Sl SgSmeh |
increased by - :
A) 50% B) 100% N0 =) It
C) 125% D) 25% C) 125% D) 25%
A body of mass m, moving with a 46. m, T A T TG 40 ms™!
uniform velocity of 40 ms™ collides with TR A 3 e foram 7 Tt 5 maed
another body of mass m, at rest and T I | TR & 3RS 91 30 ms™!
then the two together begin to move S
with a uniform velocity of 30 ms™. The - WA S A k= THFAE 1575
TEAAE! 1 gAa | —L
ratio of their masses [--n-]‘—] is i (mz ]%
’ 2
A) 0.75 B) 0.33 R s =) (U
C) 3 D) 1.33 C) 3 D) 1.33

Page No. 14
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47.

48.

49,

50.

In planetary motion, the angular
momentum conservation leads to the
law of

A) orbits

B) area

C) periods

D) kinetic energy

Two wires A and B have the same
length and area of cross section. But
Young's modulus of A is two times the
Young's modulus of B. Then the ratio
of force constant of A to that of B is

A) 1
B) 2

o b
D) 2

The equation of motion of a particle
executing Simple Harmonic Motion is
a + 1672 = 0. In this equation, a is the
linear acceleration in ms-2 of the particle
at a displacement x in metre. The time
period in simple harmonic motion is

1
A) 75
1
B) s
C) 1s
D) 2s

The average kinetic energy of a gas

molecule is

A) proportional to pressure of gas

B) inversely proportional to volume of
gas

C) inversely proportional to absolute
temperature of gas

D) proportional to absolute temperature
of gas

Page No. 15

47. @A TS i TR deem '

48.

49,

50.

& T 7 ag=an 2 |

A) wE

B) &%

C) smfy

D) e St

A art A 3ft B it T 3R SATeTRR
1 AT THH 8, Tg ATV B S
I TV TN @ | | A S Fa Faas
¥ B & o Fdi 7 o 2

A) 1
B) 2

SPA
D) V2

TS TENE T YR S TR O i
fadiFra + 16a2x = 02 | 39 i
# wfte # x et g o i T =

a, ms2 ¥ 2 | T I g 8§ eEfir g

)
A 48

1
By —
) 58

C) 1s
D) 2s
& g o) i o e ot @
A) T & g & FETgaTd
B) T % 1 & SqeHATIA
C) a1 % 0f A 3 RSHHIR
D) | % qof argu & wETgaTd
7 PM PCM




51.

52.

53.

55.

56.

CHEMISTRY
Co-ordination number of Fe in
[Fe(C,0,),J°-is
A) 6
C) 3

B)4
D) 2

Square planar complex of the type
MABXL (where A, B, X, L are unidentate)
shows isomers.

A) two trans and one cis
B) two cis and one trans
C) three trans

D) three cis

is structure of XeOF,.
A) Square planar

B) Pvramidal

C) Square Pyramidal

D) Planar Pyramidal

Ferrimagnetism is shown by
A) CrO, B) MnO
C) CuCl, D) Fe,0,

P,+ 3NaOH + 3H,0 - PH, + A where
product A is

A) NaH,PO, B) NaHPO,
C) NaH PO, D) NaH_ PO,
Chlorine reacts with to give

bleaching powder (Ca(QCl),).
A) CaCOQ,

B) Ca (HCO,),

C) Ca(OH),

D) CaO

Page Mo. 16

51.

52.

53.

55.

56.

ww o
[Fe(C,0,),l*-# Fe = ww=a vea ¢
A) 6 B) 4
C) 3 D) 2

MABXL (ST A, B, X, L 3/ geec g ) TR
H i e fifim g !

A) Bz i T
B) & R sl g
C) W\ |
D) o= o

T

XeOF , il €A1 8
A) =i wimt

B) fmfiew

C) =i frfirew
D) wi fufiea

chegernd (Fanafesn) sas g Ramn
TR

A) CrO,
C) CuCl,

B) MnO
D) Fe,0,

P,+ 3NaOH + 3H,0 — PH, + AVl
I AR

A) NaH PO, B) NaHPO,
C) NaH,PO, D) NaH,PO,
A & |y AR SR s
TS (Ca(OCl),) T8I
A) CaCo,
B) Ca (HCO,),
C) Ca(OH),
D) Ca0
7 PM PCM
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57.
58.

59.

60.

61.

62.

In Deacon’s process, catalyst used is
A) CuCl B) CuCl,
C) FeCl, D) FeCl,
Tear gas among the following is
A) CCl, B) CCI,NO,
C) COCl, D) CHCI

is an example for

molecuiar solid.

A) SiO, B) ZnS
C) CaF, D) SO,
The green manganate is

A) Antiferromagnetic
B) Ferromagnetic
C) Diamagnetic

D) Paramagnetic

According to Dalton's law of partial
pressure, total pressure p,_, =

A) P;+(py - )x2
B) p; +(p; —Pi)%
C) P x2+(py-P;)
D) p, x2+(p;—p;)x2

The value of Van't Hoff factor ‘|’ for
ethanoic acid in benzene is nearly

A) 1.0
B) 1.5
C) 0.5
D) 1.21

Page No. 17

57.

58.

80.

60.

61.

62.

e ) vimn 3 s e S
A) CuCl B) CuCl,
C) FeCl, D) FeCl,

fra 2 arg
A) CCl,
C) COCl,

B) CCI,NO,
D) CH,CI

TR S = ISR R
B) ZnS
D) SO,

A) SiO,
C) CaF,

THM R

A) TR-cieges
B) wEgeaE

C) whigerhia

D) e

SR % Ak 3= Rigra & U, gt
QM Py =

A) P +(p;-p;)xe

B) p;+(p;-p})%

C) p;xz+(p;-P})

D) p, Xz +{p;-p})%

el 7 $9ge Tftre % Torg e 8T S
'} <1 T T &

A) 1.0

B) 1.5

C) 0.5

D) 1.21
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63. Unit of molar conductivity, A, is

A) Sm™ mol B) Sem? moi™
C) Sem2mol D) S%cm? mol™

64. is suitable for hearing aids.
A) Dry cell

B) Nickel-cadmium cell
C) Mercury cell
D) Lead storage cell

65. ldentify ‘A’ in the following reaction :
Alzos(s)+6HCI( aq)+9|-|20(,)—> 2Am+ecr p

aq)
A) [AI(H,0) 2 B) [AIH,0),P*
C) [AI(H,0),]*

D) [Ai(H,0)]

66. All natural and artificial radioactive
decay of unstable nuclei take place by

Kinetics.
A) Zero order

C) Second order

B) First order
D) Third order

67. Which noble gas does not occur in the

atmosphere ?
A) Krypton
C) Helium

B) Argon
D) Radon

68. In Freundlich isotherm,
Iog%:log k+%log p, the value of n is
A) between 0 and 1
B) between 1 and 2
C) between2 and 3
D) between 1.5and 2.5

63.

64.

65.

66.

67.

68.

Page No. 18

T AT Ay 1T €
A) Sm~' mol B) Scm? mol~!
C) Sem2 mol D) Szcm? mol™

T o i & T IwE 31
A) T 89
B) FFa-thehmmaa

-C) R E&

D) Hram sigr A

e wiefer & A =i weenfe
ALQgy+ 6015t 0H,0y = 241600 g
A) [AI(H,0),*

B) [AIH,0)**
C) [AHLO)F D) [AH,0)]

IR AR & woft Wl i Fhm
el aTaem FAfsa g
Ty
A) A FIR B) WA ®IC
C) T Hife D) Wwu=ife
AT Io G ARgHee § e S ?
Ay da B) a3t
C) diferam D) ¥e= (Radon)
#eef= (Freundiich) gt
Iog%:logk+%logpﬁnim'q§ﬂ%
A) 03t 1 F =
B) 13 2% o™
C) 23k 3F =
D) 1.53R 2.5% =

7 PM PCM
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69.

70.

71.

72,

73.

74.

The formation of micelles takes place
only above a particular temperature
called

A) Critical temperature

B) Super critical temperature
C) Kraft temperature
D) Elevated temperature

Mond process is used for refining

A) Fe B) Cu

C) Al D) Ni

Drugs that bind to the recseptor site and
inhibit its natural function are called

A) agonists

B) antagonists

C) antibiotics

D) antidepressants

Antiseptic, dettol is a mixture of
chioroxylenol and

A) terpene B) tetracyclin
C) terpineol D) iodoform
Isoprene is

A) 2-methyl — 1, 3-butadiene
B) 3-methyl — 1, 2-butadiene
C).1-methyl - 2, 3-butadiene
D) 1, 2, 3-trimethyl pentane

Water soluble vitamin is
A) Vitamin A
B) Vitamin D
C) Vitamin E
D) Vitamin C

Page No. 19

69.

70.

71.

72.

73.

74.

g =1 o Faw o RSy aonA &
S gl g, S weramar ?

A) wifoes (ffeset) ame

B) f smifceh aroe

C) ®I% TuaH

D) 3T qI9HH

Tie TiEw 1 IR 36 e A e
A) Fe B) Cu
C) Al D) Ni

et R W dud Tt ot o wpfes
&1 %Y a1t O et gET Feed &

A) wifRe

B) Wit (emifiwe)

C) wfesfeht (Framatfes)

D) sraarid (Téifevde)

T e, FARISTERHIS ST 38

o fagm
B) dermEiFe

A) T
C) fifeiie D) JREH

G B

A) 2-fiemsa - 1, 3-=ERET
B) 3-MemEa- 1, 2-SeerA
C) 1-frmEa- 2, 3-eerA
D) 1, 2, 3-TRMAURS UeH

Tt & gemie Bt g
A) fafim A
B) =™ D
C) RafimE
D) A C
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75!

76.

77.

78.

79.

80.

o ee

+ 2Nax. ;
This reaction takes place in presence of

A) Alkyl halide

B) Ahydrous AICI,

C) Ahydrous FeCl,

D} Dry ether

Which of the following ion in aquecus
medium has orange colour ?

A) Cr,0.* B) Cr*

C) MnO," D) MnO >

Picric acid is prepared from
in presence of conc. HNO,.

A) Carboxylic acid
B) Phenol
C) Nitrobenzene

D) Benzaidehyde

Williamson's ether synthesis involves

mechanism,
A) §,1 B) E1
C) §,2 D) E2

Which one of the following complex is
Diamagnetic ?

A) [Fe (CN),J*

B) [Co (C,0,),I*

C) [CoFgP-

D) [Mn (CN)J*

is used in electroplating.
A) Hexane dioic acid
B) .Benzoic acid
C) Methanoic acid
D) Ethanoic acid

75.

76.

77.

78.

+ 2Nax.

IR wfafsen saht sufeufa d gt ?
A) T eARS

B) Fistet AICH,

C) fisfa FeCl,

D) T §=

et arerm & Fir R o6 st s dr AR
B ?

A) Cr,0,% B) Cr*

C) MnO,” D) MnO %

Tafshe st |z HNO, it saferfa #
QTR

A) FHETfARI 3T

B) fia

C) gl

DIEERIEHES

e & Sor arwo ® GE|

e Rl

79.

80.

Page No. 20

A) 8,1 B) Ef
C) 52 D) E2

o 3 @ v b SR-geEa 2 7
A) [Fe (CN)J*

B) [Co (C,0,),}*

C) [CoF, [~

D) [Mn (CN),I*-

1 I TR A B |
A) T SRS 3T

B) iz 1A

C) =

D) 3 STt

7 PM PCM
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81.

82.

83.

84.

85.

Axial angles (Edge angles) of
Tetragonal crystal system is equal to
A) a=p=90°%7y =120°

B) a=v =90° p#90°

C) a=p=y=90°

D) a=B-y290°

When Germanium is doped with
phosphorous is an example for

A) n-type-semiconductor
B) npn-semiconductor
C) p-type-semiconductor
D) pnp-semiconductor

To increase the soiubility of CO, in
soft drinks and soda water, the bottle
is sealed under

A) High temperature

8) Low pressure

C) Low temperature

D) High pressure

When blood cell is placed in a solution
containing more than 0.9% (mass/
volume) saline solution, the blood cell
will shrink due to

A) Osmosis

B) Reverse osmosis

C) Dilution

D) None of these

The standard electrode potential for
Daniel cell is 1.1V, the standard Gibbs
energy for the reaction

Zn, +Cu> o —>2Zn* +Cu, is
A) -212.27 KJmol™

B) +212.27 Kdmol

C) ~212.27x107 Kdmol™

D) +212.27x107 Kdmol-

Page No. 21

81.

82.

83.

84.

85.

T IgehIvitg feee yomett & vind ior (Rem
% ) T TR 8

A} a=p=90°y =120°

B) a=v =90° p=90°

C) a=Bf=y=90°

D) aa#f=y+90°

e T F 9y G T S 2,
AT HTEH RO

A) NS T A

B) npn-3Ttiai®
C) p-¥FR &l

D) pnp-H=Te®

awe fega sftdigt 9wt § CO,
M & el sohi iae st
Hiees R snar 2 |
A) =4 AIOHH
R} f= =
C) Pt armm
D) 3=4 T

Sl T I i 0.9% B e (semH/
I Wit Brerm T e ® s s
3, A EARREA __ FHrw Rigs I B
A) TR

B) Seet qUEw

C) e

D) i A%

fgw G & o v a8y e
1.1V 8 | iR

24 2+
Zng, + Cu® o —>Zn* .+ Cu

% fore aF fse o1t 8

A) —212.27 KJmol!

B) +212.27 KJmol

C) —212.27x107 KJmol-!
D) +212.27x107 KImol~

7 PM PCM

s




B86. A first order reaction is found to have
a rate constant, K = 5.5x10'* s”'. The
half-life of the reaction is
A) 1.26x107"%s B) 1.26x10%"s

C) 1.26x10"s D) 3.69x10's

87. In Haber's process for manufacture
of ammonia, the catalyst used for
increase the rate of reaction is

A) Copper
B) Vanadium
C) Iron

D) Chromium

88. During concentration of ore, the
depressant used when the ore
containing ZnS and PbS is

A) NaCN B) NaCl
C) MgCli, D) HCN

89. Deacon's process is used for the
manufacture of

A) Chiorine

B) Sulphuric acid
C) Ammonia

D) Nitric acid

90. The structure of XeF, is
A) Pyramidal
B) Distorted octahedral
C) Tetrahedral
D) None of the above

91. Identify the type of isomerism
exhibited by the following complex :
[Cr(NH,);) [ Co (CN),]

A) Linkage isomerism

B) lonisation isomerism

C) Co-ordination isomerism
D) Solvate isomerism

D) Ticae GUEId
A (g 22

86. T Hife F v Thrfrn #1 P
K = 5.5x107"% s & | 1fifsran <t orufyg 3
A) 1.26x10% B) 1.26x10%s
C) 1.26x10"s D) 3.69x10"s

87. st & Fmin & fore &sw wiean 4,
atfrisrar it aeR 3 Tore Wy I R
A) e
B) Jafemm
C) @
D) =iftam

88. IIEH o WIEHT S THF ZnS 3 PhST™e
e | I steures (fRlwe) 2
A) NaCN B) NaCl
C) MgCl, D) HCN

89. & Y wisan & Tafmin g
FEAEAE |
A) TR
B) @< I
G
D) ks s

90. XeF =g
A) fofea
B) farfta aremiviia
C) wIg=hi
D) 35a § ¥ T
91, fmRifas e o weiia guegfam =
TR FaRY
[Cr(NH_),] [ Co (CN),]
A) Tobe omeaa

B) ARl aHEId
C) 993 HEad

7 PM PCM




92.

93.

94.

95.

Name the following reaction :

A) Wurtz~Fittig reaction
B) Wurtz reaction

C) Fittig reaction

D) Swatz reaction

Complete the following reaction :
CH,
20%H,PO,
358K

I
CH, - cI: - OH
CH,
CH,

|
A) CH,~ C —CH, +H,0
(I:Ho
B) CH,— CH-CH,+H,0
C) CH,— CH,—CH,+H,0
D) CH,=CH-CH,+H,0

83.

Freaforiea st =1 am wamy
X R
@-ﬁ- Na + RX Ether ©/ +
NaX
A) - Tefem arfirferan
B) g AR
C) Toiem atfurfran
D) wéw i
Frefafaa sl =t gf ik
CH,
CH, - L _ oy _20%HPO, |
| 358K
CH,
CH,
A) CH,- (II —-CH, +H,0
CHO

I
B) CHy— CH-CH;+H,0
C) CH,~CH,-CH,+H,0
D) CH,=CH-CH,+H,0

0 ()
Correct IUPAC name of q is 4. FTaet IUPAC TR 2
CH, CH,

A) 1-methyl cyclohexanone A) 1-fema aREaReaRE
B) 5-methyl cyclohexanone B) 5 Promde aacieaaaiT
C) 2-methyl cyclohexanone C) o-fruda rTaRRTH
D) 2-methyl benzanone D) 2-firmge S9AH
Which of the following carboxylic acid 95. Fefifya & & F-T1 hrTRIfeTS 3
undergo HVZ reaction ? HVZ iR am ?
A) CH,COOH A) CH,COCH
B) HCOOH B} HCOOH
C) CH,COOH C) C,H.COOH

Cl ?I
D) CI—(IZ‘.—COOH D) cI- (IJ—COOH

I

Cl Cl
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96.

97.

98.

99.

Benzene sulphonyl chloride is called as
A) Lucas reagent

B) Tollen’s reagent

C) Fehling’s reagent

D) Hinsberg's reagent

Night blindness is caused due to the
deficiency of following Vitamin.

A) Vitamin B B) Vitamin A
C) Vitamin C D) Vitamin E

When Hexamethylenediamine and
adipic acid undergo condensation
polymerisation at high pressure and
high temperature to form

A) Nyion 6,6 B) Nylon 6

C) Terylene D) Bakelite

Neoprene is an example for the
following type of polymer.

. A) Thermosetting polymer

100.

B) Thermoplastic polymer
C) Fibres polymer '
D) Elastomers

Which of the following transition element
exhibit the oxidation state of +7 ?

A) Mn
B) Fe
C) ‘Ni
D} Cu

Page No. 24

96.

97.

98.

99.

100.

oSt TRt IS FESaT R |
A) T Resie

B) €iei-d ftwsie

C) Wefem stz

D) fémert fusie

e Pl Tafem f =h @

Ragik Al

A) frfr B,
C) frarfim C

B) faafim A
D) ffim E

ECREUIERIER R SR
31 359 M6 3R 354 ATIHM TR T
TEEREUFWE, A e |
A) 95 6, 6 B) ATgetiA 6
C) Weh D) F¥eme

Hetifin Frfofad 7R F wgas =1 &
ITRWE |

A) TIGE SETH

B) Wi TR ages

C) g TgTH

D) 3R

T T 0 a7 G O +7 St TRt
Teorfa guriar € 7

A) Mn

B) Fe

C) Ni

D) Cu
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MATHEMATICS

. 101, [1ZCosA o
1+cos A

A) cosec A—tan A

B) cosec A-cot A

C) cosA+tan A
D) cos A—cot A

102. Whatis the most general value of 8 which
satisfies both of the equations sind = %1
and tané = % ? (Where 0 £0<2r)

A) In B) /®
6 3
c) R ) R
) 5 ) 5
1 1
103. S tiant—=7
2tar:t 3 an 7
A) = B) ®
) > ) =
2n
k) byl
C) 7 D) 2

104. The area of the triangle whose vertices
are A(3, 2), B(11, 8) and C(8, 12) is
A) 85 sq. units
B) 25 sq. units
C) 50 sq. units
D) None of these

105. If P divides OA intemally in the ratio
A,: A, and Q divides OA externally in the
ratio A, : A,, then QA is the of
OP and OQ.
A) Arithmetic mean
B) Geometric mean
C) Harmonic mean

D) None of these

101.

102.

103.

104.

105.

wTfor

’1—cosA _n
14+C0sA
A) cosec A—tan A
B) cosec A—cot A

C) cosA+tan A
D) cosA-cot A

. -1 1
sin@ = > 3 tand = Nl T Et
YT 1 ST S 9 0

AR AF TR ? (TR 0<0<2n?)
A) In B) 7n

6 3
Cc) X D) *
) 5 ) 5
2tan“—1-+tan“%=?

3
A) B)

6

2
C) D) T"

-lfl-‘-l A

A3, 2), B(11, 8) 3t C(8, 12) ¥iid o=
Pt 1 ST 2

A) 85wl sl

B) 25 o ghigat

C) 50 = gwréat

D) 3 A HE T

i OA Tt P il &9/ 3@ A, © A

# e T @ o OA H Q 9IE 9 F
AW A, : A, & TR e, @ OP 3k
OQ __ OAZR|

A) THITR AT

B) sufiifae e

C) TUeHS HTEA

D) T A B 7




106.

107.

108.

109,

The equation of a straight line which

passes through the point (3, 4) and the

sum of its intercepts on the axes is 14 is
A) x+y=7

B) x—-y=7

C) x+y=—7

D) x-y=-7

X x<0
() = { 3x-2, D<x<2 then
X% +1,
f(=1) +1(1) +1(3) =
A) 12
B) 10
)9

D) None of these

xX>2

Fx*+3x+5=0andax+bx+c=0
have common root/roots and a, b, ¢ € N,
then the minimumvalueofa+b +¢
A) 5

B) 4

C)9

D) 8

The product of three cube roots of
unity is

A) 0

B) 1

C) w2

D) w

Page No. 26

106.

107.

108.

108.

D) x—y=-7

T Wielt Y o gl e, W g

(3, 4) U TR & R 18 W IWSH

T T 148 ?

A x+y=7

B) x-y=7

C) x+y=-7

X%, x<0

R0 = 3x-2, 0<x<2HIA
X2 +1,

f(=1) + (1) +1(3) =

A) 12

B) 10

C) 9

D) 90 4 &% T

e x2 + 3x+ 5= 03 ax+bx+c=0
SR e/ alRa, b,ceN 8@
a+b+c$f?[:|ﬂﬁ1'|ﬂ%

A) 5
B) 4
C) 9
D) 8

xX>2

ToHTE o i SRl <Rl U B
A0
B) 1
C) w?
D) w
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110.

111.

112.

113.

114,

There are 'n’ locks and ‘n' matching
keys. if all the locks and keys are
to be perfectly matched, then the
maximum number of trials required
to open a lock

A) n B) n+1

2
c) nn+1) D) nin—1
v 2
If °P; + 5°P,="P,, find the value of .
A) 5
B) 4
C) 1260
D) None of these

Find the number of permutation of all
the letters of the word ‘MATHEMATICS’

which starts with consonants only.

a 10
8

10!
B) salt
) 2
11
) 8

D) None of these

The coefficient of x* in the expansion of
(1 4+ X+ %2 4.

A) 990

B) 999

C) 991

D) ‘None of these

The remainder when 6"—. 5n is divided

by25is
A) 4 B) 1
C)o D)6
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110.

111.

112

113.

114.

‘n TR SR ' fem St §) TR oh
Tt TR FHioral 1 ad tE | fem Fe
2, Tt areT Eie & e stavas stftan
e < gEar el
A) n ) N+1

2
o) n(n2+ 1) D) _n(nz— L
;@l °P, +5°P,="P, ?, @ r F1 AW I
A) 5
B) 4
C) 1260
D) ¥ A w1 Tl
ws¢ ‘MATHEMATICS' % ooft a1ert &

A i T T B, S Fae W9 F
I JE T2
10!
A) 5
g 10!

11l
Q) 8
D) 3T ¥ F15 &

(1 + X + X2 + 3" & Toeamor o x4 @
T[OTT B
A) 990
B) 999
C) 991

D) 3 A% T

& 67— 5n 't 25 QA W AT IETE,
LIRILE
A) 4

C) 0

B) 1
D) 6
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115.

116.

117.

118.

2 - fi+cosx

The value of lim S x is,

1 IF

) 5% B2

1 b _"1
©) W N

. dy .

= 2+ 1), then —

if y = sin(x2 + 1), then 0 is

A) cos(x®+ 1)

B) 2xsin(x? + 1)
C) 2xcos (2+1)
D) None of these

fy= 1}xloga X, then the value of %
atx=eis

A) e
1
B) "J—g
-1
C) _J:
D) None of these
If x=a(6-sind), y=a(l —cosb)

dy .
then Ix is

8
A) tan 5

B) cotg
2

C) sin?
tp:

D) None of these
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115.

116.

117.

118.

im V2 —\/1 + COS X FHAA R

X0 sin®x
Ayl B) —
242 82
1 1
9 e ]
wl o dy
ARy = sin(eE + 1) 8, T o 2

A) cos(x®+ 1)
B) 2xsin(x® + 1)
C) 2xcos 2+ 1)

D) 378 A HE AL

TRy = \lxmgex %,Fﬁx:eqt g% Eal
TR
A Je

3
B):/"—é‘

-
C) 7;
D) T & 7
TR x = a( 8 — sind), y = a(1 —cosh ) ¥,
dy
?ﬁa%
6

A) tan 2

B) cotd
2

C) sin?
2

D) ¥ § & Tl
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119.

120.

121.

122.

Let f and g be differentiable functions
satisfying g'(a) = 2, g(a) = b, fog = 1
(Identity function). Then f'(b) is equal to
1
A —
) 2

B) 2
2
CciLg
) 3
D) None of these
da
If x = a cos@, y = bsing, then d—z is
X

A) —gt:-cosec‘ecot“e

B) %cosec‘e coto

C) —% cosec*6coto

D) None of these

If A=2i+3j},B=(Pi+9j) and

€=1i-jare collinear, then the value

of Pis
A 2 B) 3

C)g D)g
abc

iflb ¢ al=0anda+b+c=0,then
c ab

A) a=b,b=zc

B) a=b=c¢

C) azb,bzc,c2a

D) None of these
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119. AF whifore i f o g saea v s
g'(a) =2, g(a) = b, fog = I (qcae He)
o FEME S R | A f(b) Fra w7

1
A) E
B) 2
2
C) 5
D) T A &K &

3
120. =fe x = a coso, y = bsind 8, A % 2
X

A) - % cosec’fcot‘0
B) % cosec'8cotd

C) —a;ae cosec*dcoto

D) T ¥ ¥ Tef
121, 7Rt A=27+3j,B=(Pi+9j) s
E=i-] veiws, APTAR L

i
1
n 5 B)g
7 5
C) E D) 5
a b ¢
122. 7R b c al=03a+b+c=0% @
c ab
A) a=b,b=c
B) a=b=c
C) a#b,b#c,c#a
D) 3 A %K T
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123.

124.

125.

Letf: R — R be defined by f(x) = sinx .

and g : R — R be dsfined by g(x) =,
then fog is
A) x2sinx
B) (sinx)?
C) sinx?
sinx

D) xz

The principal value of the expression

cos™'[cos(—680)] is
A) —
B) -2r
9
Cc) 34z
9

D) ©

|

The greatest and least values of

(sin~'x)? + (cos™'x)? are respectively

Page No. 30

123.

124,

125.

D)

TR R {: R—> R R (x) = sinx® -
ghonfia fFn 2 eftg: R - Rl
g(x) = x2 2 aftefie fFam @, @ fog 2
A) x2sinx

B) (sinx)?

C) sinx?

sinx

x2

1T cos'[cos(—680°)] i THE
Lich]

n 2
9

B) —-2n

Q) 34n

(sin~*x)? + (cos~x)2 31 A Terhan ST =T
I AT
5n? n?
A) —
) 7 alk 5
T —n
B 2 sl

2 2
) s ™
)4 4

nz
D)TaﬂTO
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126.

127.

128.

2 3
2 -1 3
A= = =
{_4 5 1]andB 4 -2
1 5
then

A) Only AB is defined
B) Only BA is defined
C) AB and BA both are defined

D) AB and BA both are not defined

if x, y € R, then the determinant
COS X —sinx 1
A= sinx COS X 1

cos(x+y) -sin(x+y) O
lies in the interval
A) [2,42]
B) [~1, 1]
[z
[-+-

C) 1]
D) V2]
The two curves x® - 3xy? +2 =0 and

Iy —yi=2

A) Touch each other

B) Cut at an angle g

C) Cut at right angle

D) Cut at an angle g—

Page No. 31

v | 126. ﬂﬁA:[z
-4

127.

128.

&

A) FacT AB ) aftiirg T 2

B) &<t BA Tl wfteria fam m @

C) AB 3R BA gt uitmiftm i m €

D) AB iR BA gt uftifim =i ford 2 €

qRx, yeRE, @

COS X —-sinx 1
sinx cosX 1
cos(x+y) -sin(x+y) 0

A=

Tora oTaua | atrar @ 7
A [—V2,42]

B) [1, 1]

c) [-v2.1]

o [1-42]

I X - Ixy? +2 = 033ty —y3 =2
A) a7 & Toel T §

B) gmmm%

C) Tmeho i Figd &

D) gﬁwmm%
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129. The point on the curve y? = X, where 129

the tangent makes an angle of 2 T with
the X-axis is

11
& (2 4)
° (i)
C) 4.2
D) (1. 1)

130. is equal to

J sin? xcos? x 130.
A) tanx + cotx + C
B) tanx+C

C) tanx—cotx + C

D) (tanx—cotx)? + C

131. If f and g are continuous functions in

[0, 1] satisfying f(x) = f(a — x) and 131.

g(x) +g(a—x) = a, then j (x) g(x) dx
~ is equal to

A)

| o

B) 2 [f(x)dx

VAN
O S, @

C) Tf(x)dx
o

D) a Tf(x)dx

. s
A Page No. 32

TF y? = X T i X-31 @ Z
I HI0 R 2, T8 frg R

»(z4)
° (+2)
C) (4,2)
D) (1,1)

J' dx .

sin° xcos®x

A) tanx + cotx + C
B) tanx+ C

C) tanx—cotx+ C
D) (tanx =cotx)2 + C

TR2[0, 1] 3l g P T ESi(x) =H{a—x)
3 g(x) + g(a — x) = a FT AIHH Fd E,
@ [f(x) glx) dx =

0

a
A) 5
a a
B 3 J;f(x)dx

C) Tf(x)dx
0

D) a ‘Tf(x)dx
0

7 PM PCM
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132.

133.

134.

135.

2
II X cos nx | dx is equal to
-2 .

A) B)

C) D)

S0 Ao,

Nl 2

The area enclosed by the circle
X2 +y2=2is equal to

A) 4rn sq. units

B) 242 sg. units

C) 4n?sq. units

D) 2r sq. units

It {a|=8,|b|=3 and [axb|=12,
then value of &-bis

A) 6V3

B) 8V3

C) 12\/5

D) None of these

A line makes equal angles with
co-ordinate axis. Direction cosines
of this line are

A) £(1,1,1)
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132.

133.

134.

135.

2
j|xco$nx|dx =
-2

A) B)

C) D)

20 3|
Al Al

T +y? = 2 5N AT o e 43 2
A) 4n o wEal

B) 22 = gt

C) 4n= et

D) 2r = Shwat

af |a|=8,[b|=3 3t |axb|=12 2,
@ abwum?

p) 6V3

B) 83

c) 12V3

D) 38 A g

U T G- 2987 O SO & 191 S
? I @@ S R weEa 8

A) £(1,1,1)

7 PM PCM




136. Let A and B be two events such that
P(A) = 0.6, P(B) = 0.2 and P(A|B) = 0.5.

Then P(A’|B')equals
1

A) 10

Bl
C)
D)

137. Two finite sets have m and n elements
respectively. The total number of
subsets of first set is 56 more than the
total number of subsets of the second

set. The values of m and n respectively
are

A) 7,6
B) 5, 1
C) 6,3
D) 8,7

138. The domain of the function f defined by
Hx) = - is

Jx=1x|
A) R
B) R’
C) R

D} None of these

A Page No. 34 [

136. A1 oftfore for A @it B & weamd @ S B
P(A) = 0.6, P(B) = 0.2 3l P(A|B) = 0.5
2, PA'|B) =

A)
B)
C)

D)

No @0 2o Bl

137. S o e dFmm m st nwes & | s
T2 & w1 T W e A I T
<l gerT 1 56 31fee @ | m 3 n =
ICh
A) 7,6
B) 5, 1
C) 6,3
D) 8,7

138, f(x)z—-ﬁ 3 it we f 31 Wi
() &

A) R
B) R’
C) R
D) T A HE &l
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130.

140.

141.

142.

The value of sin 20° sin 40° sin 60°
sin 80° is
_3

16

B) >

A)

C)
D)

If the complex number z = x + iy satisfies
the condition |z + 1| = 1, then z lies on

A) x - axis
B) circle with centre (1, 0) and radius 1
C) circle with centre (~1, 0) and radius 1
D) y - axis

™
. N T
The amplitude of Sin g +i [1 - COS SJ is

A) ==
)5
By =
)5

4
©) ¢
L

D)

—h

0

The equation of the circle having centre

(1, - 2) and passing through the point of
intersection of the lines 3x + y =14 and
2x + 5y =18is

A) ®+y2—-2x+4y-20=0

B) x*+y2-2x-4y-20=0

C) x*+y?+2x~4y-20=0

D) x*+y?+2x+4y-20=0
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139.

140.

141.

142.

sin 20° sin 40° sin 60° sin 80° FTHAA
3.
A

B)

C)

D)

& = ale alo

FREME T z = x+iy W |z + 1] =1
T THTH R 2, T 2 F8T B

A) x- &

B) (1, 0) % o Bsn 1 T

C) (~1, 0) g ol s 1 IR g9

D) y-3&

Y T T
smg+l[1--cos§J &1l R
2n

5

Y

5
T
5
It

3

0

(1, - 2) &% @MW 3x + y = 14 3ft
2X + 5y =18%9ﬁ@'«ﬂﬁ@ﬂﬂmﬁmﬁ
T T GHIRIT &

A) C+y -2x+4y-20=0

B) x2+y?-2x—-4y-20=0

C) *+y*+2x—4y~-20=0

D) ¥+y?+2x+4y-20=0
7 PM PCM
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143. The equation of the ellipse whose centre
is at the origin and the X-axis, the major
axis, which passes through the points
(-3, 1and(2,-2)is
A) 5x2 + 3y?=32
B) 3x® + 5y? =32
C) 5 -3y2 =32
D) 3x2+5y2+32=0

144. What is the locus of a point for which
y=0,z=07

A} Equation of X-axis

B) Equation of Y-axis

C) Equation of Z-axis

D) None of these

1+2+3+...+n

143.

144,

el forent 9z @ WR ok Tgw At
X- #g @, 5 (- 3, 1) 3 (2, - 2)
Torgii @ 1erar 2, S w2

A) 5x% + 3y? = 32

B) 3% + 5y2 = 32

C) 5x2-3y2=32

D) 3x2+5y2+32=0 ‘

FPafgsfmy=0,z=08, 3@
A) X- 3181 1 g

B) Y- 31% =1 qHiewor
C) Z- AL 1 AHHOT
D) 38 A1 Tel

145. iim 0 neNisequalto | 145, fim 2H3 4N oo 3o
N—x n N n
A} 0 B) 1 A) 0 B) 1
1 1 1 1
C) 5 D) 2 C) 5 D) 4
146. Three squares of chess board are | 146. YRe 12 & i 9l F Irgfess T A 0
selected at random. The probability AR | W F 2 71 3k daga T awem
of getting 2 squares of one colour and TR < TR 2
other of a different colour is 16
16 A o
A) — 21
21 8
8 B) 57
B) 21 21
3 0 =
9 5 i
D) 8
D) 3 e (lB




147.

148.

i49.

150.

The total no. of térms in the expansion
of (x + a)® = (x—a)®' after simplification
is

A) 102

B) 25

C) 26

D) None of these

If the coefficients of x” and x® in

n
(2 +%) are equal, then nis

A) 56
B) 55
C) 45
D) 15

InaG.P. of positive terms, if any term is
equal to the sum of the next two terms.
Then thee common ratio of the G.P. is
A) sin 18°

B) 2cos 18°

C) cos 18°

D) 2sin 18°

Thetwolings ax+by=cand a'x + b’y = ¢’
are pemendicular, if

A) aa'+bb'=0

B) ab'=ba’

C) ab+ab'=0

D) ab'+ba’'=0

147.

148.

149,

150.

(X + a)® ~ (x — a)*' % UEHE & a7
Toare & 1 e R v @

A) 102

B) 25

C) 26

D) ¥ A HIg e

aﬁ[z+§] # x7 3 X8 3 o
2, dnd

A) 56

B) 55

C) 45

D) 15

YHTeR UG G.P. B TR % 15 svt )
G % 0T F T R, A G.P. T aE

I 2

A) sin 18°

B) 2cos 18°
C) cos 18°

D) 2sin 18°

7 W@ ax + by = ¢ 3 ax+by=c
AT &, 912
A) aa’+bb'=0
B) ab'=ba’
C) ab+a'b’'=0
D) ab’+ba'=0
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Answer Key for 7 PM PCM (Set-A)

. No. | Answer Key (. No, | Answer Rey (. No. | Answer Rey
i B 51 A 101 B
2 A 52 B 102 A
3 C 53 C 103 C
4 A 54 D 104 B
5 C 55 A 105 C
6 D 56 c 106 A
7 c 57 B 107 8
8 D 58 B 108 C
9 D 59 D 109 B
10 A 60 D 110 C
11 B 61 A 111 A
12 D 62 C 112 c
13 D 63 B 113 A
14 c 64 C 114 B
15 A 65 B 115 C
16 B 66 B 116 c
17 B 67 D 117 B
18 B 68 A 118 B
19 B 69 C 119 A
20 D 70 D 120 C
21 c 71 B 121 C
22 D 72 c 122 D
23 A 73 A 123 c
24 D 74 D 124 A
25 C 75 D 125 A
26 D 76 A 126 C
27 A 77 B 127 A
28 B 78 C 128 C
29 D 79 B 129 B
30 c 80 c 130 c
31 B 81 c 131 B
32 D 82 A 132 A
33 B 83 D 133 D
34 B 84 A 134 C
35 c 85 A 135 B
36 D 86 B 136 c
37 B 87 o 137 C
38 D 88 A 138 D
39 C 89 A 139 C
40 A 90 B 140 C
4 D 91 c 141 D
42 c 92 A 142 A
43 D 93 A 143 B
a4 B 94 c 144 A
45 C 95 A 145 C
46 c 96 D 146 A
47 B 97 B 147 C
48 B 98 A 148 B
49 B 99 D 149 D
50 D 100 A 150 A







